i

=

—

—
—
—-

¥ 3 & 9 A
E Bl =

T

A
4

Y

)

YN



R

WRER

%

%

ER/STES

BmE 81

TH3FEMUT—REHWETE (B105)




= 1 = £ M

HUEY I H6HEmMS

g T [TTHY-L

Hﬁ&%%ﬁﬁ_ﬁ%QQM$£%<%Q$H%QSH%®eNw@mm%b%QMGWﬁ@HEQM$HﬁKﬁ 4
g pRMHE2L L2 ‘SET ‘6TTU

w§WH%<ﬁw%$eﬁ$£%&%.ggﬁwm$oomﬁ@@wnH$Win%<ﬁuﬁ$QM$H%<% ¥1¥
(THWOoELTEYE)

OTANYTICRIUNR R (H0TH) BLTHHESH - HUTUISENS

(40T1T%) BLTHESH - UTAFTH LS

&1 8HER



LLT ‘GET ‘612

00§ ‘998 ‘1

L11 892 ‘L1Z

d

= v
856 ‘6.7 ‘€2 00S ‘998 ‘1 8% ‘€19 ‘12 HETE T
= €0% ‘216 P2 fd == 005 ‘998 ‘T - €06 ‘090 ‘€2 BIE L
12 B I B HEQLETTRY Bt Y&
oo
LLT ‘SET ‘612 006 ‘998 ‘1 LLL ‘892 ‘L12 B 1= o
61LG90 ' L16°S 208 ‘690 ‘C Y
L00 ‘0£9 ‘9 L16°S 060 %29 ‘9 YA ¢
176 ‘8GL V1 000 ‘0T %6 ‘87L ‘b1 TVHETF 1
£2€ ‘26L V1 000 ‘01 €3¢ ‘28L ‘71 TV 07
061 ‘968 ‘S 8% ‘881 G¥9 ‘L0L ‘G TIHEY ¢
7467922 ‘81 8% ‘881 690 ‘8€0 ‘8T THXY L]
9€9 ‘128 ‘22 860 ‘299 ‘1 8¢S ‘651 ‘12 TEwEE ¢
-k %92 ‘¥H€ $9 - 860 ‘299 ‘1 Fd-= 991 ‘289 ‘29 T xHEE 91
12 g I B HY Qo LH T Hr Y&
Y

(ESW—HMA) THELFEYE  EI1H




